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D1 H4E(2) - /IR vs INFE - #2H 6-0,6-3  BEFI
D2 [l - M (3)vs ik - i 3-6,6-1,2-6 ik
D3 4H - MHOG)vs IS - ®fF  7-5,3-6,7-5  BFl
S1 R @2)vs B 6-4,6-2  HF

S2  gnABE(4vs FifE  3-6,6-3,7-6(4)  EF

S3 A @vs frid  6-2,6-2  FEF

S4  /R()vs IHEE  6-0,6-1 R

S5 LEH3)vs % 6-1,7-6(5) WEF

S6 FH@)vs =il 6-3,6-4
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D1 HF#E©2) - /R(D)vs mH - B 2-6,5-7 gL
D2 BT - P (3)vs ilE - Sl 2-6,0-6 Bk
D3 %M - MHE@vs HE - FH 06,06 b
S1 HAHEQvs FX 1-6,0-6 b

S2  EARBEE(4)vs il 1-6,1-6 Ak

S3 LHQB)vs I3 1-6,0-6 AL

S4 IR Q)vs 7 1-6,0-6 Bk

S5 WH{E(4)vs H E 1-6,0-6 Bk

S6 FH@)vs BrH 1-6,2-6 KL

b 0-9 THuE



